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SECOND YEAR FIRST SEMESTER EXAMINATIONS FOR THE
DEGREE OF BACHELOR OF BUSINESS ADMINISTRATION
WITH INFORMATION TECHNOLOGY
(CITY CAMPUS)

ABA 202: INTRODUCTION TO FINANCE

Date:11" December, 2012 Time: 5.30 — 7.30pm

INSTRUCTIONS:

¢ Answer Question ONE and any other TWO questions..
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[image: image2.jpg]A) Discuss the shift that has taken place in the development of finance as a
discipline. (10mks)

B) In what ways is wealth maximization objectives superior to the profit
maximization objective? (10mks)

C) Explain the advantages and disadvantages of retained earnings as source
of funds. (10mks)

Q2

The following two project (A and B) are being considered for investment by
Samia Ltd.

Criteria Project A Project B
Cost of Capital ( r) 6% 10% | 10% 15%
Total present value (+PV) (sh) | 537,690 489,610
Net present value (NPV) (sh) | 478,360 394,200
37,690 89,610
(21,640) (5800)
Required:

A) Calculate for each project:
i.  Profitability index (P1) at a discount rate of 10%
(3mks)
il.  Internal rate of Return (IRR)
(4mks)

B). The finance manager of the company has indetified another investment
(project C) with the financial data as here below:

o [nitial cost Shs 850,000

o [Bstimated. cash inflow (1-5 years): shs 180,000 shs 250,000 shs100,000

shs250,000 - and shs 300,000 respectively

e Salvage value shs 100,000

o Cost of capital 10% (10mks)
Required:
Calculate the projec t PI, NPV and IRR.

C. If the required return on investment is 12% which of the three projects would
be accepted and why? (3mks)
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a) Shareholder always complain that they are not rewarded well on their
investments, as finance expert how can you solve this problem.
b) Explain the factors affecting cost of capital.
Q4 a) What factors may affect the finance being sources by a limited company?

(10mks)
b) What is a debenture? Explain the main features of a debenture.

Q5 a) Define capital structure and discuss the main elements of capital structure.

(10mks)

c) The following is the capital structure of XYZ Ltd as on 31-12-2011
Kshs ‘000’

Equity share :10,000 share of kshs 100 each 10,000
10% preference shares ( of kshs 100 each) 4,000
12% Debentures 6,000

20,000
i) The market price of the company’s share is kshs 100 and it is expected that
a dividend that a dividend of kshs 10 per share would be declare for the
year 2011. The dividend growth rate is 6%

Required:
If the company is in the 50% tax bracket , compute the weighted average cost of
capital (10mks)




